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b bl t t1 t2 L r b2 (kg)
¥ 240 330 50 45 40 5 15 90 19
¢ 300 400 60 50 100 31
55
1 ff 360 460 65 55 600 39
10 120
450 560 60 70 60 18 52
600 740 75 75 65 150 74
¥ 240 330 50 15 90 44
¢ 300 400 100 85 15 100 53
55
2 fl 360 460 600 120 62
450 560 60 120 | 100 20 18 90
600 740 75 150 | 130 150 151
s ﬁ 7= +3 *2 +2 +2 +2 +3 - -

ML BE L THEISRIET 5 H Do
B2 M g (R H32kNEL ) AR L TEITT 5 2 &I EN T,
ETT B ENH - Th—Rifilt/s &L TIRMTETT 5 &5 AT,
JUEIT AT TRIET 5 D,
YRl 3 JISEREEGERN TS,
ML —F V7 BRIF TR ZS 0,



